—= _I"I_\'.'il'rg

7 3 -2 Section-A (Q. No. 1 to 35 ]
A wheel of o
a h‘l]l]l‘l\."l-, cart :
: i 15 rol " "
road as &I]U'“ nin I1T1g on: A IL"'EI 4 The terminal \r'('ll]ﬂge of the hﬂl'l'EF'._ whoges

) - : Emf
10V and internal resistance 1£). when conpe,,
2y

the figure below, If iis linear

.‘-'[‘.lu...-,.-i fq Vv ii‘l a 3
\ the direction s .

- n sho A .

the following shown, which ane o

highesy and ﬂfi:::::: !isr:-::fr::iit (P and Qare any !hmugh =) c:‘ctermzl resistance of 4 0 as Shay,
mﬁﬁﬂcli\-ef}'}-_: = in the figure is :
P -
" o i el . &
—_— : 16Y 7}
"—l‘-ll_'—"w“r—
LA
- s
: () 6v 27 8v
(1) Point  moves faster than point 0. (3) 10F -../( §
{27 Both the points P and @ move wi 0 S
speed. i
(3)  Point 7 has zero speed. ! iois 2 =]
(4) Point P moves slower than point 0. > inan ideal transformet e duasratiods T ) 2
: : bols ¢
2 Match List I with List L e e A e ™
List 1 ) List I1 j@m 2y 11 !_Jj PRl .
(Spectral Lines of (Wavelengths (nm)) e @ 1:2 |’ x
Hydrogen for (3 =4
transitions from) gh a right ang|
- throughamn Ngled pri;
A. my=3tom=2 L 4102 O A ithe angle of incidence 30e . . &
point I with h the pri Hlown
B. m=4tom=2 1. 434 in figure. It travels throug " paralle 1
its base BC and emerges nlnn_g the face AC.T
C. m=5tom=2 1. 65 b ism is; iy
- I : 6.3 refractive index of the pri :
D. m=6ton=2 IV. 486.1
Choose the correct answer from the options given
below :
(1) A-IIL, B-1V, C-I1, D-I
(2) A-1V, B-1IL, C-I, D-II \
(3) A-L B-11, C-1II, D-1V \

(4Y AL B-I, C-IV, D-I11
~— i - g—

3

3 A thermodynamic system is taken through the (1) (2) 4
cycle abeda. The work done by the gas along the

path be is : & 55

(3)

oG ml&

@*Ii-
' e

300 kPa} - - - & c n 3 ' -
1 v 7 The quantities which have the same dimensio)
100 kPap 2= 1 b \? +% as those of solid angle are :

i E . ,q}-‘-‘g (1) stress and angle
100 cm? ?_:}n" & ' o,f&){slrain and arc
/ ; ) / ?B (3) angular speed and stress
(1) 307 i @ —90J (4) strain and angle
2 60 vz ) zero
—NYaH FYTnEY S C
. _ on
k3_English | itbque 91nad @ 1
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13

~ 1
7
21{1;’:50}& r‘\;g
(1) 0.93 4 LZ{ o0
{ - b
P 0354 (4) 0.58 4

(?5 xmm?r”ic bar of Young’s modulys
.5 x 10 Nm‘;-'andcmﬁicientnflinearmennai

expansion oSl ad length | m and areq of
crjjss-sectic@ 103 m?2 isheated from 0°C to 100°C
without expansion or bending. The compressive
force developed in it js:

(1) 50 % 103N
(3) 2x103N

1]

100 x 103 N
(4) 5x103N

A parallel plate capacitor is charged by connecting
it to a battery through a resistor. If 1 is the current
in the circuit, then in the gap between the plates :

(1

.
displacement current of magnitude equal to
| flows in the same direction as 1.

44

45

46

(2) displacement current of magnitude equal to
I flows in a direction opposite to that of 1.
(3) displacement current of magnitude greater

than I flows but can be in any direction.

) there is no current.

| _English |

L1

/B.”

{Ihl 5

COTregr o
Fidge | Elreniy
alance Which ¢
s 2il)] tichin
“Meyve

hl,'

B.

2

C_hc-ose the correct sta
Eiven below:

(1) Aand C only

A, Cand D only
(3) Conly
(4) Band D only

tement(s) from the options

7

Ifthe plates of a parallel plate capacitor connected
to a battery are moved close to each other, then

the charge stored in it, increases.

the energy stored in it, decreases.

its capacitance increases. .
the ratio of charge 10 its potential remans

the same. ‘
E. the product of charge and voltage increases.

Choose the most appropriate answer from the
options given below:

(1 AC and E only

(2) B.Dand E only

(3) AB and C only

4y A Band Eonly

oowp>

\ Cor
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55
h%h
. nde
2 ::E:‘l'-‘h, Ency tq BO in hﬂ‘-'k‘-\ard
io
. ir:-c|i~.nha5£0n°““~‘ﬁm fok 4
st @) on. |y Pletion iy
oy i Cactiop Is .a: il oo
Sty T Cquilibriy,
:j::lch ist | ith . I
t L 15t
{Cumpleﬂ-;? i
) i
3 [C e, t::t I (Type of
o( Ny S
( s (NoR)e,
- - Sol'\‘a{g
Ip
" [CD - lmmcnsm
( H3); (s0,)]ar 2
" Linkage
2| IS0merjg
> [CD(NH ) J ; i
3 Cr(C
276 [ '{( NJ(,] 11 lonizatjop
*'f‘- ISOmerism
D [CO(HEDJ()]CIJ
4 Iv. Cunrdinalion
£l i -
Choose the correct 7
answer fi i
o €r irom the options given
( A-l, B-I11, C-1V, D-11
2) A-L B-1V, G11, pjj 4

(3)  A-IL, B-1v, €11, p.j
(4) A-IL, B-l11, €4v, p.
Gn
57 In which of the_l following processes entropy
increases? {
A. A liquid evaporates to vapour.
B. Temperature of a crystalline solid lowered
from 130K to 0 K.
D. Clyp) =2 Clg) i
Choosi(fl?ne cnrrec?pnswcr from the options given

U ™Y

o, /8,
Aty Bee”
(1) ml_‘
(ii) ”10,/3}1
(iii) ni[.l\'.\in{'}
; |
(iv) ‘J:.Uh

below~ o
A, Band D=~ (2) AC anft D
(3) CandD . () A and C

Y

t1_English |

@ 0 Homs !
(ii) [l-‘k(
@ G Hyom
(1i) E[;{_]g
3 Match List | i i I
List | (Reaction) . '
List 1 (Reagenty
(o ":lllllllit’mm
L]
:
5 O:O(;T ED':Q L. @)1\'“
:TU e Anhyd AIC).
B, @“@Jb L Cro,
OH 0~ :
C. O’ ‘_‘Oé \ HL KMnl,]{.
CH KOH, A
HACH \
D. g, V. ()0,
dOOK e
@ (8} (i1) .?_n-HlU
Choose thé€orrect answer from the options given
below: I~
A-llIgB-1, C-11, D-1V
(2) A-IViB-, C-11, DAl
(3) A-L B-1V, C-lL, D11
(4) A-1V, B-1, C-111, D-Il
60  In which gfighe following equilibria, K and K,
are NOT ¢qual?
I )
(1) “113'.? ..il'?.[g] e H'l_':@
(2) COd HaOp = COyg * g
(3)2 Bl = Bryg * Chig
(4) PClyg Pllig* Cha
u | Contd...
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83
. March, | ist |
Lisg i ‘l,h!_hl”
Quantyy, N
v, A by 1
= o n
B. o [ M : Etion-B (), No. 86 o 100}
B shs Proyiy ) ik o)
y—1 _'dF‘l.': I'|.r| B "“‘I"-'l:-.\j of , Ne during reversible isothei_—_
L hu‘. g T OMg| rr.,m . L T |-|-|.\.|L of hydrogen & gas dt == =
D % - - . Ofien ”ilrh"iﬂ is: e Sure of 20 atmosphere to 11 8 e FIZL 5
e \ ; on g W
orh (Give o
& \_“, i 1ta] “'“- nR=> 0 cal K=! mot-") e
10050 € the IL-”E:'“L:H ) » ~413.04 calories e P
‘ [ 1 * = % ] T
I'.u,-]““ “Orecy ANy fcui €Ctrgp Pin 42 4 3.14 calaries = - 1".:;{&
r . rim 3 =
i'\h i, g ”“”h&””"—“"ﬁ 2iy ::]; fll‘m calories » ﬂ"'LcJ
(2 \_”L B I Doy } calorie = ~® (L-tw‘g r‘\\%\_
(3) A-11 -1l b i
=, B. L 87 |-L||._1|t
; f wer.
(4) Aqlp 1 » D-qpy il de gle momer hat 7
In Cir p Iv '-n--. 1 BF 3 has non-zero (\5 E_n.a‘ﬂ: than t 1
2 LI\ =1 18
Dipol jent ©
84 Match List | A\\?/ 32 “1}1“:‘; "4 13“3 bu ._l.ru“'“ fox
List Y1t Lisy I @I (3) T cnunnlcﬂl forms catt
k. ree
(Com Poung) List I -3,4:?%"‘ = 22; co? ion- . can be dr2% n for
& M Sh: w i s
g l\”-‘ :thpdﬁmml‘lr}'} g ji] Three l;\e:st’:l'l‘m“':': Strue o_p fD“E
' B. Brr, © Trigona| Pyramidal B ozone- - o . Howing
- " i . OW
C. Xel 1. 5?'-|u=aru Planar d B formed 1" g
D. SF, 1. Octahedra) 88  Major product® narﬁf
] i s
Choose the ¢ IV. Square Pyramidal reaction sequen®
3¢ the correcy o f it
below: Clanswer from the options given ! oH - un.c.bLL‘ll_'-F_, B 0
Hy PBT, A A (mal®
{‘I ) A-IL, B-1y C-IIL Dy s i U“-.\]nr'l
b —
(2) AL BV, .1 poyy BGc
(3) A-IL B, C.v. by =i 4 B e
g ' \
"]-* ) A=
A S £ o
i = rﬁ:( it
85  Which plot of In k vs + is consistent with L B A8
Arrhenius equation? (2) fj <
2) A=
O
OH
" .y HC
(1) (=) . B=
AT ‘
Br :
4 HLC
H4C
e 3 B
(3) (4) &

13
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) 89 h
€ paiy { :
. 15 s ""h”””“i Hong hich a 1 :
iy At i
D) e and Ey,2+ i " During the preparation oF Mohry o
|:+ {-1.[_1:. . " (Ferrons Ao im Uiphatey . L.' .
(3) A and |} “’0- f:tl[-n\m_u .-ch;lbLi:; added ['l|||r\..___.|" ; Vi, ’
(4) n: and Sni#+¢ Fel* jon? P S Wy
s 4 .
Le and Th“'*-' (1) -.-nnc-:nréﬁ(gml sulphurje acid
9 Ao :: (2) dilute N acid
 “OMmpoung CoMtaine 250, e BT dilute supphuric acid
"'-"ﬂ‘mining perce "‘fc e nf?ra' “0% of B and 4) dilute hetochlori
L i ﬁ"*'mula ki ,':L:I‘ILi ot C. Then, the empirical g l_lf",ﬁm_ anere
- a} (Given Hl:"lmii‘ masses of A=64: B = 40 C=32u) | 95 Identify the major product ¢ forme
' (j]' ABL; O ® AB,C, following reaeton sequence & iy
CH, —CH, -g}z ~I——= A,
91  Given below are in cations. Using inorganic LS
Qualitative analysis. arrange them in increasing OH— B — NaOH
Eroup number ﬁ'U"rLPI v i .J\ Partial h}di‘tﬂq':&iﬁ HT_i_—h‘{ C
A A_1‘3+ B. (Cu2+ oM _,Ljﬁl%_' e n"-n'lilflT|
11 LYy C. ‘-B_;!—‘* Ty D. Co* 0 i (1) hl.lt)r‘|ﬂn'IEI£'I:ll: 3 3 o -
_Il_dg?‘ (2) butanamide . 3
Choose the correct answer from the optign“sgixen _(,54 @ — bromobutanoic acid
below: o 5 Nl 3 (4) prnpyla@w
Al B,C,A,,D.H_n L2 oo
@ ECD,B, S : _
() EA.B. C. Dqt WT 9 Mass in gra of copper deposited by Pay
4) B.A.D.C B 9.6487 A curgent through a voltmeter COnty;, |
<) copper sulphilte solution for _lﬂg}'ttunds . )
92 Cmsidm—ﬂ;efollun-i,:grmction ina sealed vessel (Given : Molpgumass of Cu {63% mol-1,
at equilibrium with concentrations of IF =96487 -
N, =3.0x 10 M, 0,=4.2 x 103 M ang 947 0315 g @) 3l5g W
NO=2.8 x 103 M. () 0.0315 g ) 3.15g ) 4
2NO, , =N Q -
() 2(:]%3@1 For the -ivéng%actiun'
If0.1 mol L1 of N, is taken in a closed vessel, z '
L ! Bk " C= wa*h’!"l)_tﬂ’l* ‘P
what will be degre®8f dissociation (@) of NO, O [ > (major
i HLY
at equilibrium? G product)
(1) 0.0889 (2) 0.8889 ‘Pis To! /
3) 0717 (4) 0.00889 s
| (1) C)_ COOH U@
93 The rate of 4 reaction quadruples when ' OH OH ;
temperature chagpges from 27°C to s7°C, 1K |
Cr:ﬂculatc the ehergfof activation, ﬁ-) O—C‘tﬁr CH —O
Given R =8.314 yg-1 mol=!, log 4 = 0,602
(1) 380.4 ki/mo <
(2) 3.80 ki/mo I~
" ) O-ae—)
(3) 3804 ki/mol vy (
(4) 38,04 ki/mol ) w @ > q'ﬁ_)
RI_Englisp | |
14 | Conti §
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b '”'!"-I._
N !
|I1. r'~'.’|.|. 8 Ca
o b Loy :"-_J-.._
Tdh-rn..m I
"‘-"I'i-w
B A~ M)
Ohe king F |
g Ndy § ut
r]f'r"""'lur'u. Nie | ; \NH | ¢
] (ind o 1
In the lighy i l lll-'"'-‘“!
PN the o
COrps -~ S0y
Orrecy ‘""““L:r fi r:_j”"'" "'-c'!fl,:n“_r_ll_
L ) T * Chioy
(1) H-]-ih tater.. Plion. IVen het,. I
= Ment | and 2
<) Stay Satemen, I
“lCment | is true ‘Ware g e
Lt
2): Stateigeys =8 ‘ement 11 ¢,
_f,.-"/ nent | 15 falge h St o
i dlem
*) Both Statemen, l'and g, i
1.!ri:r11|.'nt Il are s
9w,
€ plot of osmog;
(mol - i-mm““c Pressure ( JVS conceny
- - . = Ao
slope 25 'J.-' Or solution gives 4 straight |in . :1
25 . e & Wit
Ii]t : 3 I_ h.ii' ”]UJ i. Ih[."“.‘nlmr;ﬂuru-n wi 'I.il
Osmotic pressure m;:::s.un.-mum 15 doneg | lich
g Is:
[ea R —nr
(Use R = 0,083 L bar mol-! gt
(3) 12.05°C (4) 37°C
100 The products A and B obtained in the following
reactions, respectively, are
. = app gl e fo
3ROH + PCl; =3RCI + A ﬁ'}@g@- 3
Cay "
{14+ PCl.=3RCI+ HCI+B . ..
}{E}I_I.-} !{_lj‘—w“f] _fu 1||;L,.f13
(1) POCI; and HyPO, T
(2) H;PO, and POCl3")
(%) H3PO; and POC
(4) POCI; and H3PO;

R1_English |

a3

103

i o
‘ e
o L

ol A i

'
e I3 B
- dyv st

proaheee gin —L

-
el minane
rrates apecd

-t
: thon, & small maolee

. [isst
Compoygngd found 10 livimg

yos-. 15

Li) F’-H.\-aphqlllfrid*

il

(27 Glvcerules

D.

(3} Carbohydrtes

{4) Amino acids

st 11 :
Match List 1 with L5¢ List 11

List 1 L Back cross
T'wo o Mo
alternativé
forms of 8 gene,

Cross of Fi

progeny with
homozygous
recessive parent
Cross of Fj
progeny with

any of the parents
Number of

chromosome

L Allele

V. Tesl Cross

sets in plant
Choose the correct answ
below:
(1) A-lL, B-L, C-1IL D-1V
f AdIL BV, C-, DAL
(3)  A-lV, B-111, C-11, D-1
(4) AL, B-Il, C-H1L, DIV

S
er from the opuiens givel

| Contd...
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b

C”"_II J-fc‘rlllh thg ST iy
Prosdyee OOy,

B The Mowers
by warey

( In mag o uéfchmr”inan:d 5
Pollen grain. Are Protecteg from

Pollen grains Ofisom

and ribban like

L),

\ Pollen 8raing gp
Carried Passively inside Water,

Choose the Correct hii‘swcr from the Optiong Biven
. W)

below, 4
A1) A B, Cand g gnjy 108
) A.cp and Banly
2 8) B:C. D and Bey
) C Dangg only
105 Listof endange ies was release by-
(1) Wwr 1 @ FOAM
3 1ueN D (4) GEAC
P 109
06 What js the fate ofgu'iﬁ;e of DNA Carrying only
£ene of interest wfg IS transferred into gp alien
organism®
A.  The piece oFDNA would be able to Mmultiply
itself indcpemm'y in the Progeny ce||s of
the Organism.jy
B. may get im@ated !nto the genome of the
recipient 7
C. I may mullip&_}nd be inheriteq along with
the host DNA].”
D. The alien piece of DNA is not ap integra|
part of chr{:-mosnme.
E. It shows abin'f&’m replicate,
Choose the correct Blswer from (he Options given | 119
below:
o
(1) Dapg E only
2) /B ang ¢ only [
[}/ Aand g op) y ™

4) A and only ol

"glish |

e

N Lighy ¥Ry Mg,  thy W

R Ch Inrnph} 1]

“ 00,

D.  Arp

I NA| IPK

;“f;::: the Corregy Mswer l-r"m he - I'"_J

(1) ind D o mwgﬁl
(2) and E oy N
(3) and E o
@y A. B ang L only ?‘
The ¥pe of cop, MVation hich ‘
SPpecieg are takep out from cir t zh%
ang Placeq in g ial se ng wh ol I"'a:
Protecteqd 4,4 &iven spe; I ure:; o Wiy
(1) Biudfversit}' Conservatig, . 2
(2) Sem i—cunf;enratwe Methog P

Givep below are two Slatemene Q
Statemtnt I: By lOXins are insect gro m‘-.
and codeq Y a gene oy, lAc, P SFE“:
Staten.wnt I1 : gy toxin eXists g mi;,-
_pmm:?;m in B fhun‘ugieu.m. owmgrﬂ;:c
Ingestion by the insect the Inactiye pmmx;&;:
can?mm:d INto actjye form dye 10 acigie H

(2)  Statemen | is i’y
(3) Statemeny | is false byt Statemen, Il ig
(4) Both Statemeny | and Statemepy | arellgk
)
A transcription unit in DNA s defined Primaril,
by the three regions in DNA and these gre With
réspect to Upstream ang down Stream end;

(1) Structural gene, Transposons, Operatog ey
gene |f)
Structyra| gene, Terminagop)
(4) Repressnr, Operator gene,'Structurg) Ee'ne
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“Qﬂ.

l]'ﬁ.‘d
r[:ﬂ

Eﬁi“'tan 5 Cuty py),
. E‘Q)gn ”!'. I Q"ﬂ{-g ma
e ang “'“tular
(2) 411'[] Msistg
4 Ehlﬁ
-
We
nd:;:;baﬁd On ¢ .
en § iy t‘:’“!mn
r_"__'.
L
")
{b)
Y @H ;
2 YPogynoys: (b) Epig';'
<) (a) Perigynoys. , Hous
(3] _>770US; (b) Epigynoys
«{2) (a) Pﬁrlg}fnn % i
@) (@) Enine o ®) Perigyngys
Epioy :
Pigynous; (b) Hypogynous
114 Wf}lich of the following ; Y
actinomorphic flowern £ 15.4n example of
\/f:)' {I.'.:t.s's.f'a 2) I‘;'.i.a.';jn
(3) Sesbania (4) fJf#M‘u
il
115 Wluclh one of the following is not a criterion for
classification of fungi? S
) Mode of nutrition P
(2) Mode of spure_furrlia:iullgl___f
(3) Fruiting body C
Morphology of myceliuni™
T s ety
R1_English | " ki

| 119

118

19

the basis of Mendel™s | L t:ﬂ
A Out of one paif 0538

oNw >

& L
AT oF Yerhiualst Peh

i

\ .
.i..- M this Squaton. K "T“'l“'.!“r‘
:11 Bavrie porentinl
= Carrying capacity

L3 2 Population density

st
#

i g | iETT
Intrinsic rate of 0 = \nlﬂﬁl on
expin

oy e
Which one of the fnlln\;'wlg L”Ewmmﬂnl.‘ﬂ

|i|
1= dl"'"““u

and the other is /&
Alleles do not Show 20
the characters P

generation. .
Factors occur i

plants. n“!w“u-u"iﬂﬁ a
The discrete ¥ ror. pare
character is f“"?rﬁly v

The :xpfﬁ"’on nd in @ 5 i

is fou op
& chn:mlcﬁ i f:;‘swcf from the
oose the
hq:l_-;l\\:

__‘.l] A, G, D
(2) B,C
3) A.B.G
(4) A, B

Match List | with Lt l[f—‘j Lis
List I
Rhizopus
Ustilago
Puccinia

. Agaricus
Choose the €

:L]T‘.:WA-I. g, ¢, DN
wm&m@,ﬁi
u}kmwmomﬁi
(4) A-lll; B-11, C-1V,
me by
Inhibition of Suceinic dehydmgma:se enzyme DY
malonate is @ classicai_ example of:
(1) Feedback inhibitia
_Q(Eumpatitiw inhib
(3) Enzyme activatio
(4) Cofactor inhibitin;;_\

.
g

Qcollegedunias
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ﬂ-'“?l ¢ as S

ul
F‘r! in

E.

1.
l111‘1; Bread moul
ﬁ) Rust fungus

o the options 8VE

orrect ﬂiﬁ\gﬁo

n
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BEIT : Gymnosperms |

o2 . ack.’\'lt” raeenle
but presence of xyjem v ylem vessels

£ : essels is the characteristic
o ANgiospers, cleristic
In the lig “the ¢
light of the above statements, choose the
CHI_I_E‘_'-.I answer from tht options given below:
/(J".l Both Statement@fand Statement 11 are false

(2) Statement I is trug but Statement Il is false
(3) Statement | is fglse but Statement Il is true
(4) Both StatementJdnd Statement 11 are true

R1_English |

1
_i'ht_q
Iy Al
B
he
J; Uy h'\hi'u
TR
hlb '[L'ﬁr
LI :
1_“ Mg,
[Fahflt . Y
Ls l'li k
3 i I-
.-;,I.“:J: b
aT[:l Il:I [
\i"!"".:. () A
L g o
th['[_.,l . ‘I"!':'.H P
'JII:'. I"j.'Fg ‘.'"
| log
>, uh
2) A Feg
(4) 'F"”aahi.\
mpi]iin
T
2
[dttm‘:ﬂ[g i e L
v
%l'!meh, ; #
Cl‘ns{_.ﬂ \-u{nu Badys |
uﬂnr‘! I q |_'"
: = “Plotep,
SlMing 0
3 g JP]U{E[
i llog o € stage ;
5 s
& A riul}lunm“ |
0f . :
O e
e Lmtl",]
ol 10N g 100se the
T A Elven below:
M2gg, lL'I']IErj[ 1l are fas
idlse
h ta]n.muu Ilis false
latemeny | ;
ent | .
IF g I Statt:iliunl 1 ol
3 - - are true
131 o .
” Given beloy, are twg sty
: state idlements:
: -‘}Idlf_n]cni I piky Is;
i ¢ ',”' . ; - ﬂrLHCh'\-ma is J o |
ollenchyma is dead fissye T ol
i Stateme :

19

134  Bulliform cell

O L

CATHMRE

L1 —_
Tirtat ot

. i
. ettt
Hahirat | and fra
i
“igratien

Ch xase the .;.lﬂ"l":‘ 1,Iptlu“
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A.  Myasthenia gravis

B. Rheumatoid arthritis
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